
axe des x

15,00 marge

35,00 heure marée 0
36,03 =(155-([7,5cos]*120))
39,09 =(155-([15cos]*120))
44,14,(etc...)
51,08 heure marée 1
59,80
59,80
59,80
81,95
95,00 heure marée 2
109,08
123,94
139,34

155,00 heure marée 3

170,66 =(155+([7,5sin]*120))
186,06 =(155+([15sin]*120))
200,92 (etc....)
215,00 heure marée 4
228,05
239,85
250,20
258,92 heure marée 5
265,86
270,91
273,97
275,00 heure marée 6

282,00 marge

axe des y

15 hauteur 0m

18,75
22,5
26,25

30 hauteur 1m

33,75
37,5
41,25

45 hauteur 2m

48,75
52,5
56,25

60 hauteur 3m

63,75
67,5
71,25

75 hauteur 4m

78,75
82,5
86,25

90 hauteur 5m

93,75
97,5
101,25

105 hauteur 6m

108,75
112,5
116,25

120 hauteur 7m

123,75
127,5
131,25

135 hauteur 8m

138,75
142,5
146,25

150 hauteur 9m

153,75
157,5
161,25

165 hauteur 10m

168,75
172,5
176,25

180 hauteur 11m

183,75
187,5
191,25

195 hauteur 12m


